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SECTION - A (10x1=10)
ANSWER ALL THE QUESTIONS:
1. Which is not a major cloud computingplatform? CO2
A.Google101 B. IBM Deepblue C. MicrosoftAzure  D. AmazonEC2
2. “Cloud” in cloud computing representswhat? CO2
A. Wireless B. Harddrives C. People D. Internet

3. Which of these should a company consider before implementing cloud computingtechnology?CO2
A. Employeesatisfaction B. Potential costreduction
C. InformationsensitivityD. All of theabove

4. What exactly is cloudcomputing? CO2
A. A way to organize desktopcomputers
B. Lightweight software that takes up little space on a harddrive
C. Computing resources that can be accessed on demand, likeelectricity from atility
D. The World WideWeb

5. What widely used service is built on cloud-computing technology?

A. Twitter B. Skype C. Gmail D. YouTube CO2
6. Which of these techniques is vital for creating cloud- computing centers?

A. Virtualization  B.Transubstantiation C.Cannibalization D.Insubordination COos3
7. An internal cloud is... CO3

A. An overhangingthreat

B. A career risk for aClO

C. A cloud that sits behind a corporatefirewall

D. The group of knowledge workers who use a social network forwater-
coolergossip

8. Match the provider with the cloud-basedservice. COos3
A. Amazonl.Azure B.IBM2. Elastic ComputeCloud
B. EMC3.Decho C. Microsoft4.Cloudburst

9. Cloud computing embraces many concepts that were previously touted as the next big thing in information
technology. Which of these is not an antecedent of thecloud?
A. Software as aservice.  B.Utilitycomputing C.Remote hostedservices D.Gridcomputing COos3

10. IBM, EMC and Boeing Co. were among the companies signing what

document whose title is reminiscent of a famous political statement?

A. Declaration of CloudComputing B. The Rights ofCloud

B. MeinCloud D. Open CloudManifesto COo3




SECTION-B (5x 2 = 10)
ANSWER ANY FIVE OF THE FOLLOWING:

11. Define cloud 1aaS? CO2
12. Give any fourexample for SaaS? CO2
13. What are the role of cloud challenges? CO2
14. What is meant by cloud security? CO2
15. Expand:OGF, OMG. CO3
16. Define smoke testing. CO3
17. Define DMTF? CO3
SECTION-C (3x6=18)
ANSWER ANY THREE OF THE FOLLOWING
18. Brief a note on uses ofcloud delivery models in cloud computing? CO2
19. Write a summary on web based business services? CO2
20. Brief a note on the seven step inCloud computing? CO2
21. Selecting the right scalable application in cloud. COos3
22. Understanding the best practices used in selection of cloud service. COos3
SECTION-D (1x12=12)
ANSWER ANY ONE OF THE FOLLOWING
23. Enumerate on the obstacles for cloud technology. CO2

24. Explain the system testing cloud. COos3
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SECTION-A
Answer ALL questions: (05X01=05)

CO2 1. Main memory is divided into separate

A) Memory regions B) Memory partitions C) Memory devices D) Both A&B
CO3 2. Job scheduling is also called

A) Coupled Processing B) Multiprogramming

C) Coupled Multiprocessing D) Multiprocessing

CO4 3. Devices, channels and control units are typically called the
A) Controller B) Traffic controller C) Process controller D) 1/0O Traffic controller
CO4 4. UCB expand for
A) Unit Control Block B) Unix cell Block
C) Uniform Control Block D) None
CO5 5.The system is concerned with mapping the structure
A) Symbolic fine B) Physical file C) Basic file D) Logical file
SECTION-B
Answer any TWO questions: (02X02=04)
CO2 6. Define Multi Programming.
CO3 7. What a job scheduling?
CO4 8. What is mean by storage device?
CO5 9. Define a file system?
SECTION-C
Answer any ONE question: (01X6=06)
CO2 10. Write a Short Notes on Re-Locatable Partitioned Memory Allocation.
CO4 11. Discuss about the Channels and Control Units.
SECTION-D
Answer any ONE question: (01X10=10)

CO3 12. Explain about the State Model.
CO5 13. Explain about the Logical File System and Access Verification Controls.
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SECTION-A
Answer the all questions (50*1=50)
1) A) Arrange the words given below in a meaningful sequence.
I. Income [1. Status [11. Education IV. Well-being V. Job
A) 3,15.24 B) 1,3,2,54 C)1,25,34 D) 351,24
B) Find odd man out
A) ORACLE B) BASIC C) PASCAL D) COBOL
2) A) Arrange the words given below in a meaningful sequence.
l. Leaves I1. Branch [1. Flower  IV. Tree V. Fruit
A) 431,25 B) 4,2,5,1,3 C)4,3,2,15 D) 4,2,1,3,5
B) What protocols used between E-Mail servers
A) FTP B) SMTP C) SNMP D) POP3
3) A) Forecast:: Future::Regret::?
A) Present B) A tone C) Sins D) Past
B) Which word does not belongs to others
A) Bud B) Tulip C) Daisy D) Rose
4) A) Doctor:: Patient::Politician::?
A) Voter B) Chair C) Money D) Public
B) Find the missing LETTER for the given box?
B C E G K M
Y X \Y T P ?
A) L B)S C)N D) O

5) A) How many circles are there in the adjoining figure?

A) 18 B) 24 C) 20 D) 14
B) The hexadecimal number C3 convert to binary number is
A) 1111 B) 110011 C) 111100 D) 11000011
6) A) Find odd man out
A) April B) June C) September D) May

B)

0COe LAA||:I?
o Ue Aa ol

(1) (2) (3) (4)
A) 1 B) 2 C)3 D) 4
7) A) HEART= @8531; FEAST= #8541; FARTHEST=?
A) #541@831 B) #831@541 C) @541#831 D) #531@841
B) 5% of 5% of Rs. 100 is
A) Rs. 25 B) Rs. 0.50 C)Rs. 10 D) Rs. 0.25

8) A) Where is RAM located?



A) Expansion Board B) External Drive C) Motherboards D) None
B) 77% of 64="?
A) 47.28 B) 49.28 C) 48.29 D) 49.27
9) A) If a computer has more than one processor then it is known as ?
A)Uniprocessor B) Multiprogramming
C)Multithreaded D) Multiprocessor
B) 28% of 450+45%280

A) 256 B) 252 C) 305 D) 352
10) A) (489+375)% — (489-375)* =?
(489*375)
A) 4 B)5 C) 40 D) 52
B) The ratio 5:4 Expressed as a percentage equals.
A) 125% B) 126% C) 175% D) 176%
11) A) (963+476)* + (963-476)° =?
(963*476)
A) 4 B)5 C)6 D) 2

B) In a certain code Languages 461 means ‘where are you’, 169 means ‘you are good’ and 8652 means
‘flowers are not bad’. How will ‘where not are good flowers’ be written in that code Language?
A) 68954 B) 46598 C) 45698 D) Data inadequate
12) A) 7:12 is equivalent to
A) 28:40 B) 42:71 C) 42:72 D) 72:42

B) If C=3 and POLISH=79, then POINTER=?

A) 98 B) 97 C) 96 D) 95
13) A) A ratio equivalent to 3:7 is
A) 9:21 B) 6:10 C)3:9 D) 18:49

B) If ‘blue’ means ‘green’, ‘green’ means 'white’, white’ means ‘yellow’, ‘yellow’ means ‘black’, ‘black’
means ‘red’ and ‘red’ means ‘brown’, that what is color of ‘Blood’?
A) Yellow  B) Green C) Brown D) Black
14) A) In a class there are 20 boys & 15 girls. The ratio of boys to girls are
A) 4:3 B) 4:5 C) 3:9 D) 18:49
B) If ‘blue’ means ‘green’, ’green’ means ‘white’, ‘white’ means ‘yellow’, ‘yellow’ means ‘black’, ‘black’
means ‘red’ and ‘red’ means ‘brown’, that what is cooler of ‘milk’?
A) Yellow  B) Green C) Brown D) Black
15) A) The L.C.M of number is 2,4,32,8 find the value
A) 32 B) 65 C) 60 D) 63
B) Pointing towards a day, Veena said, “He is the son of the only son of my Grandfather.” How is that boy
related to Veena?
A) Uncle B) Brother ~ C) Cousin D) None
16) A) The L.C.M of two number is 2,13=?
A) 15 B) 25 C) 26 D) 28
B) Ram is the brother of Arun. Sana is the sister of Tina. Arun is the son of Sana. How is Ram related to
Sana?

A) Brother  B) Uncle C) Son D) Father
17) A) The L.C.M of two number is 12,30=?
A) 58 B) 60 C) 62 D) 64
B)CanyouSolve 7+ 7+7+7X7+7-7+7+7x7=?
A) 112 B) 56 C)o0 D) 98
18) A) The L.C.M of two number is 30,42=?
A) 630 B) 635 C) 220 D) 210

B) A man walks 5km east, turns left & walks another 5 km. Again he takes a left turn & walks 5km. Which
direction on is he facing now?
A) West B) East C) South D) North
19) A) 211225="?
A) 35 B) 30 C) 45 D) 25



B) Home D is 10 km, towards the North of House A. Home C is 15km towards the west of Home D. Home B
is 15km towards the west of Home A. How far and in which direction is Home B from Home C?

A) East B) West C) North D) South
20) A) 2v/9025="?
A) 85 B) 75 C) 95 D) 90
B) The Hexadecimal number system consists of the
A) 0-15 B) 0-9, A-E C) 0-7, A-F D) 0-9, A-F
21) A) 3V125="?
A) 10 B)5 C) 25 D) 15
B) Data in a computer can be represented as
A) Hexa-Decimal B) Decimal C) Binary D) All of these
22) A) Arrange the words given below in a meaningful sequence
I.Police I1.Punishment [11.Crime IV.Judge V.Judgement
A) 3,1,2,45 B) 1,2,3,4,5 C)54,3,2,1 D) 3,1,4,5,2
B) Find the odd letter from the given alternatives.
A) Driving  B) Diving C) Swimming D) None of the above
23) A) If T=40; DOG=52; BALL=?
A) 29 B) 32 C) 54 D) 35
B) We can draw a pie-graph in a
A) Excel B) Power point C) Access D) Word
24) A) A teacher can develop a question bank with the help of
A) Excel B) Power point C) Access D) Word
B) M-S word is an example of
A) System S/W B) Application S/W  C) OS D) Translating program

25) A) A byte is equal to
A) 32 Bits B) 16 Bits C) 8 Bits D) 4 Bits
B) The VIRUS is a
A) S/W Program B) H/W C) Device D) None of the above
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SECTION-A
Answer all questions
(10X1=10)
1) Anempty set is denoted by
a) Null b) {} c)a&hb d) none Co1
2) If R is reflexive, symmetric and transitive then the relation is said to be
a) Binary relation b) Compatibility relation
c) Equivalence relation d) Partial order Co1
3) A finite non-empty set of symbols is called :
a) alphabet  b) letter c¢) string d) language Co1
4) One to one onto function is also called
a) bijective b) injective c) surjective d) composﬂe function Co1

5) Let R ={(3, 3), (6, 6), (9, 9), (12,12), (3,6), (6,3), (3, 9), (9, 3), (9, 12),(12,9)} be a relation on the set A= {3,
6, 9, 12}. The relation is

a) Reflexive and transitive b) reflexive and symmetric
c) symmetric and transitive d) Equivalence relation Co1
6) Individual Objects in a set are called
a) Element b)set c)list d) None of above Co1
7) A group or collection of objects is called
a) Element b)set c¢)list  d)group Co1
8) There are only five distinct Hasse diagrams for partially ordered sets that contain elements.
a2 b)3 c)4 d)6 Co1
9) A={1,3,57,9}isa
a) Null set  b) finite set c) smgleton set d) infinite set Co1
10) Let R={(1, 3), (4, 2), (2, 2), (3, 3), (1, 1),(4,4)} be a relation on the set A={1, 2, 3, 4}. The relationRis____
a) Transitive Db) reflexive ¢) not symmetric  d) function Co1
SECTION-B
Answer any FIVE questions (5X2=10)
11) Define Sets Co1
12) Define Functions Co1
13) Define Relations Co1
14) Write the types of relations Co1
15) Write the types of functions Co1
16) Define Graphs CO5
17) Define Trees CO5
SECTION-C
Answer any THREE questions (3X6=18)
18) Write about functions and its types Co1
19) LetU={1,2,3......,10} , A={1,3,5,7.9} B={2,4,6,8,10} ¢={3,6,9}
Find the De- Morgan’s Law Co1
20) Discuss about relation. co1

21) Let f:Z to Z be a function defined by f(x)=2X+3,let g:Z to Z be a function defined by g(x)=3X+2. Find i)fog
i)gof Cco1

22) Draw the recursive tree for merge sort of the list 9,7,11,4,5,3,6,8,12,10 CO5




SECTION-D
Answer any one (1X12=12)
23) Explain about tree traversals CO5

24) Suppose that f is defined recursively by f(0) = 2, f(n+1) = 3f(n) +2, Find f(1),f(2),f(3),f(4) CO4



VIVEKANANDA COLLEGE, TIRUVEDAKAM WEST - 625 234

DEPARTMENT OF COMPUTER SCIENCE
Course Code:
10AT31 Programme: B.SC CIA: II Test
Date: 07.11.2020 Course: COMPUTER Semester: III
’ SCIENCE
Time: 2Hrs Year: II Maximum: 50 Marks
Course Title: OPERATIONS RESEARCH
SECTION-A
Answer all the questions (10X1=10)
1. in an assignment problem, CO5
(a) One agent can do parts of several tasks  (b) One task can be done by several agents
(c) Each agent is assigned to its own best task (d) None of the above
2. If number of rows and columns equal to number of allocated zero’s then the problem is called-------
CO5
a) Balanced b) Unbalanced c) optimum  d) not optimum
3. The unbalanced assignment problem is said to be --------------------- CO5
a) rows=columns b) rows#columns c) order of matrix=assigning zero’s d)none
4. The application of assignment problems is to obtain . CO5

a. only minimum cost. b.only maximum profit. ‘c. minimum cost or maximum profit .
d. Optimal Assignment

5. The assignment problem is said to be balanced if cost matrix is . CO5
a. square matrix. b.rectangular matrix. c. unit matrix . d.triangular matrix
6. In Assignment problem if total supply < total demand we add . CO5

a. dummy row with cost 0.  b.dummy column with cost 0. ¢. dummy row with cost 1. d.dummy column with
cost 1.

7. The occurrence of degeneracy while solving a transportation problem means that CO4

A. total supply equals total demand B. the solution so obtained is not feasible

C. the few allocations become negative D. none of the above

8. In non-degenerate solution number of allocated cell is .CO4

A. Equalto m+n-1  B. Not equal to m+n-1 C. Equalto m+n+1 D. all of above

9. Transportation problem is a special class of .CO4

a.LPP. b.Assignment problem. c.none of the two. d.both 1 and 2.

10. The purpose of the transportation approach for locational analysis is to minimizeCO4

a) total costs b)total shipping costs c) total variable costs d)total fixed costs

SECTION-B

Answer any FIVE questions (5X2=10)

11. Define OR CO1

12. Define Maximization in Assignment Problem. What are the procedure to solve it?CO5

13. Give the mathematical formulation of Assignment ProblemCQO5

14. Define unbalanced assignment problemCQO5

15. Define Assignment problemCO5

16. Give any difference between transportation problem and assignment problem CO4

17. Define Maximization in transportation Problem. What are the procedure to solve it? CO4




SECTION-C
Answer any THREE questions (3X6=18)

18. Write working procedure of graphical method CO?2
19. Solve the following assignment problem CO5

Operators
[ | B I I AV
A 8 26 17 11
Machine B 13 28 4 26
C 38 19 18 15
D 19 26 24 10

20. Find IBFS using VAM method to get Maximum profit CO4

Destination
SOURCE A B C D SUPPLY
1 15 51 42 33 23
2 80 42 26 81 44
3 90 40 66 60 33
DEMAND 23 31 16 30

21. Solve the following assignment problem CO5
JOBS
1 2 3 5 5
A 8 4 2 6 1
B 0 9 5 5 4
PERSONS C 38 9 2 6
D 4 3 1 0 3
E 9 5 8 9 5
22. Solve the following assignment problem CO5
MACHINES
M1 M2 M3 M4
Jl1 5 7 11 6
JOBS J2 8 5 9 6
J3 4 7 10 7
J4 10 4 8 3
SECTION-D
Answer any ONE (1X12=12)

23. Explain Hungarian algorithm method CO5
24. Solve the following assignment problem to find the maximum total expected sale

Area
salesman | i i v
A 18 24 28 32
B 8 13 17 19

C 10 15 19 22

CO5
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SECTION-A
Answer all questions (10X1=10)
1. character array always ends with . COo2
A. null (\0) character. B. question mark (?). C. full stop(.).
D. exclamation mark(!).
2. Which header file is essential for using strcmp() function? CO2
A. string.h; B. strings.h; C. text.h; D. strcmp.h
3. Which among the following is a unconditional control structure?
A. do-while.  B. if-else. C. goto.D. for.
4. How many times the following loop will execute? CO2
void main()
{
for (a=0;a<4; a++)
printf("hello");
¥
A3 B4 C5 D infinite
5. The--------mmmmmmmmme- statement helps immediate exit from any part of the loop CO2
A. break B. continue C. both D. none
6. The -------mmmmmmmmmmeeee loop executes at least once. COo2
A. for B. while C. do-while D. while & do-while
7. All keywords must be written in CO2
A. upper case. B. lower case. C. within codes.D. separately.
8. A multidimensional array A[10][9] can store-------- number of elements CO2
A91 B8 C9 D389
9. If 'str'is a string of 7 characters, the statement printf("%4s", str); will display ------ characters. CO2
A4 B7 C6 D.O
10. Find out on which line number you will getan error? CO2
Line 1: void main ()
Line 2: {
Line 3: print(“\n Hello World”)
Line 4: }
A) Line1B)Line2C) Line3D) Line4
SECTION-B
Answer any FIVE questions (5X2=10)
11. Define String CO2
12. Write syntax of Array declaration CO2
13. Define entry controlled loop give example Cco1
14. Define exit controlled loop give example Cco1
15. Define break and continue Co1
16. Write a C program to sum of 1 to 10 numbers using for loop CO1
17. Write a C program to get and display of your marks using array CO2
SECTION-C
Answer any THREE questions (3X6=18)
18. Write about Switch case statement with example Co1
19. Explain puts() and gets() function with example CO2
20. Explain the following concepts of Function Declaration, Function Definition, and Function Call CO3
21. List out user defined function usage COos3
22. Write about One-dimensional Array with Example CO2

SECTION-D




Answer any ONE (1X12=12)

23. Differentiate while and do..While looping statement with example Co1
24. Explain about no arguments and no return values, arguments but no return values with example CO3
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SECTION-A

Answer ALL Questions:

CcO2

CcO2

CO3

CO3

CO3

CO4

CO4

CO4

CO5

CO5

1. In D Flip- Flop, ‘D’ stands

A) Distant B) Desired  C) Data D) Delay

2. A register defined as

A) The group of latches for storing one bit of information

B) The group of latches for storing n-bit of information

C) The group of flip-flops suitable for storing one bit of information
D) The group of flip-flops suitable for storing binary information

Course Title: COMPUTER ORGANIZATION

(10X1=10)

3. is a processor that manipulates and performs arithmetic operations

A) ALU B) CPU C) Motherboard D) Control unit
4. A set of instruction that performs task is called the
A) Program B) Storage  C) Data D) Software

5. The CPU registers is called

A) Stack B) Queue C) Program Counter D) Stack pointer

6. Operand is the contents of a CPU register.

A) Address mode B) Register mode C) Absolute mode D) Immediate mode

7. DMA expand for
A) Direct Memory Address B) Direct Memory Access
C) Direct Message Access D) Direct Message Address

8. The DMA devices that is allowed to initiate data transfer on the bus is called the

A) Bus driver B) Bus arbiter C) Bus grant D) Bus master

9. LED stands for

A) Lighting Emitted Display B) Light Embedded Diodes

C) Light Emitted Diodes D) Lighted Emitted Display

10. Increment the contents of a register equivalent instruction.
A) INR | B) INRR C) INC | D) INCR

SECTION-B

Answer any FIVE Questions

CO2
CcO2

CO3
CO3

CO4
CO4
CO5

11. Define Shift Register. And Give the Classification of Shift Register.
12. Define Encoders and Decoders.

13. What is BUS?
14. Define STACK.

15. Define DMA.
16. Expands for the (i) MAR (i) MDR (i) MFC
17. Name of any two examples on Eight bit Microprocessor?

(5X2=10)




SECTION-C

Answer any THREE Questions:

CO2

CO3
CO3

CO4
CO4

18. Explain about Serial In-Serial Out register with neat sketch.

19. Explain about the BUS structure with neat Diagram.
20. Write short notes LIFO & FIFO with neat structure.

21. Explain about the DMA with neat diagram
22. Discuss about the Different types Addressing Modes.

SECTION-D

Answer any ONE Questions:

CcO2

CO5

23. (i) Explain JK Flip-Flop.
(ii) Explain RS Flip-Flop.
(iii)Explain D Flip-Flop.

24. Explain the 8085 Pin Function & 8085 Instruction Set.

(3X6=18)

(1X12=12)
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SECTION - A (10x1=10)

ANSWER ALL THE QUESTIONS:

1.

\‘

__is the range of frequencies that pass through the transmission channel minimum attenuation
a) baud rate b) bandwidth ¢) modulation d) attenuation CO2
A connection that allows traffic only one way is called

a) full duplex b) half duplex c) simplex d) uniform duplex CO2
FDMA, TDMA and CDMA are

a) automatic repeat protocol  b) channelization protocols c) bit oriented protocol  d) None CO2
Code Division Multiple Access differs from Time Division Multiple Access because thereisno
a) bandwidth b) link c) carrier d) timesharing CO2

In Code Division Multiple Access (CDMA), sequence of code is called

a) chips b) sets c) encoding d)decoding CO2
. HTTP uses a TCP connectionto

a) Establishment of servers connection b) Transfer whole database

c) Client server connections d) Transfer files CO5

. Transmission Control Protocol (TCP) controls the

a) Synchronization  b) Sequence c¢) Congestion d) Connection CO5
. IANA Stands for

a) Internet Assigned Node Authority b) Internet Assigned Native Authority

c) Internet Aligned Number Authority d) Internet Assigned Number Authority CO5

. An ACK segment, if carrying no data still consumes

a) One sequence number b) Two sequence number

c) Three sequence number  d) No sequence number CO5

10. No retransmission timer is set for an

a) RTO b) ACK segment ¢) FIN segment d) Checksum segment CO5




SECTION-B (5 x 2 = 10)
ANSWER ANY FIVE OF THE FOLLOWING:

11. Define Physical Layer? CO2
12. Expend : TDM , PSTN CO2
13. Define Switching. CO2
14. What is magnetic media? CO2
15. What are the difference MUX and DEMUX CO2
16. Short answer the following questions CO5
a) WWW
b) HTTP
17. Define digital signature? CO5
SECTION-C (3x6=18)
ANSWER ANY THREE OF THE FOLLOWING
18. Brief a note on fiber optics? CO2
19. Write a summary Public Switched telephone network? CO2
20. Brief a note on packet switching? CO2
21. Explain about the E-mail. CO5
22. Explain the cryptography in computer networks? CO5
SECTION-D (1x12=12)
ANSWER ANY ONE OF THE FOLLOWING
23. Explain the Multiplexing and types. Cco2

24. Enumerate on the DNS. CO5
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SECTION-A (10x1=10)

ANSWER THE FOLLOWING:
1. Expansion of DDA algorithm is CO2

a) Digital Difference Analyzer b) Direct Differntial Analyzer c) Digital Differential Analyzer

d) Data Differential Analyzer
2. On a raster system, lines are plotted with

a) Lines b) Dots c) Pixels  d) none of these CO2
3. The cartesian slope - intercept equation for a straight lineis

ayy=mx+b b)y=bx+m c¢c)y=xx+m d)y=b+mm CO2
4. algorithm is a faster method for calculating pixel positions

a) Bresenham’s line b) Parallel Line c) Midpoint d) DDA CO2
5. isdefined as a set of points that are all at a given distance r from a center position (X, y)

a) Rectangle b) Curve c) Circle d) Spline CO2

6. A translation is applied to an objectby
a) Repositioning object along a straight line path b) Repositioning object along a circular path CO3

c) both aand b d) none of these
7. Translation of a two dimensional point can be done by adding
a) Translation distances b) translation difference c) translation points d) repositioning COos3

8. An area on a display device to which a window is a mapped is called a

a) Window  b) graphics c) Animation d) View port CO4
9. Mapping selected ports of a scene in normalized coordinates to different video monitors CO4
is called

a) Rotation b) Reflection c) workstation transformation d) Shear transformation

10. A procedure that identifies those portions of a picture that are either inside or outside of

specified region of space is called CO4
a) Composite transformation b) Clipping c) Area fill d) Flood fill algorithm
SECTION-B (5x2=10)

ANSWER ANY FIVE OF THE FOLLOWING:

11. Expand PHIGS? CO2

12. Give any two advantages of DDA Line algorithm? CO2

13. List the basic attributes of a straight line? CO2

14. What is meant by translation distance? COos3

15. Define differential scaling? CO3

16. Define shear? CO4

17. Give the uses of clipping? CO4




SECTION-C (3x6=18)
ANSWER ANY THREE OF THE FOLLOWING:

18. Summarize a note on output primitives and graphics functions?
19. Critically analyze the working of Line Drawing algorithms?
20. Summarize a note Raster method transformations?
21. Critically analyze Scaling and its types?
22. Brief a note on 2D viewing pipeline?
SECTION-D (1x12=12)

ANSWER ANY ONE OF THE FOLLOWING:
23. Explain the working of Bresenham’s Algorithm with suitable illustration?

24. Explain the working Clipping and its types with illustrations?

CO2
CO2
CO3
CO3
CO4

CO2
CO4
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SECTION - A (10x1=10)
ANSWER ALL THE QUESTIONS:
1. Information is transmitted on copper wires by varying CO2

a) Electromagnetic waves b) Voltage c) Frequencyd) Speed

2. The range of frequencies transmitted without being strongly attenuated is called CO2
a) Baud rate b) Bandwidth c) Data transfer rate d) Attenuation

3. Expand UTP. a) Unshielded Twisted Pair  b) Universal Twisted Pair CO2
c) Universal Terabyte paird) Unified Twisted pair

4. _ isthe spreading of light pulses in length while propagation through fiber optic cable CO2
a) Chromatic Dispersion  b) LASER  c) Grating d) SONAR

5. Expand PSTN. CO2

a) Private Switched Telephone Network b) Public Switched Telephone Network
b) c) Packet switched Telephone Network d) Portable switching telephone network
6. is a process of forwarding the packets from the source to the destination COos3

using a routing table a) Switching b) Framing ¢) Routing d) Fragmentation

7. Inbroadcast communication, relationship between source and destinationis COo3
a) One to all b) Many to one c) One to many d) One to one

8. Maximum size of TCP header is____a) 20 bytes  b) 40 bytes  ¢)60 bytes d) 80 bytes CO4

9. In User Datagram Protocol (UDP), queues are associated with CO4
a) Slots b) IP c) Ports d) Packets

10. Domain, which is used to map an address to a name is called CO5
a) Generic Domains b) Inverse Domain  ¢) Main Domains d) Sub-Domains

SECTION -B (5x2=10)
ANSWER ANY FIVE OF THE FOLLOWING:

11. Give any two typestwisted pair wires? Co2

12. Give any two types of fiber optic cables? Co2

13. List the types of Coaxial Cables? Co2

14. Define baud rate? COos3

15. Expand FHSS and DSSS? COos3

16. Define an IP Address? CO4

17. Define Digital signature and its use? CO5




SECTION-C (3x6=18)
ANSWER ANY THREE OF THE FOLLOWING
18. Briefa note on the characteristics and types of twisted pair cables?
19. Distinguish between coaxial cables and fiber optic cables?
20. Discuss briefly on types of framing methods?
21. Write a note on types of IP addresses and its characteristics?
22. Brief a note on Email and its characteristics?

SECTION-D (1x12=12)
ANSWER ANY ONE OF THE FOLLOWING
23. Enumerate on types of transmission media, their characteristics and types in each category?
24. Explain in detail Datalink layer issues and its services?

CO2
CO2
CO3
CO4
CO5

CO2
CO3
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SECTION-A

Answer all questions (10X1=10)

1) Java Packages are therefore classified into two types what are these

CO3

a) Java APl b) User defined Packages c)a & bareboth  d) None of these above

2) is the peer class of string COos3
a) String Buffer b) Buffer  c) append  d) None of these above

3) may only be used within a subclass constructor method COos3
a) Super b) destructor c) subclass  d) none of these above

4) Inheritance may take how many different form COo3
a) 5 b) 3 c)4 d) 2

5) have the same name as the class itself. COos3

a) Constructors b) Destructors ¢) Function d) Members

6) is at the top of the exception class hierarchy. CO4
a) try. b) throwable. C) exception class. d) catch.

7) In java thread to thread communication is called CO4
a) passing. b) sending. C) messaging. d) calling.

8) is a small unit of a process. CO4
a) method. b) thread. c) applet. d) stream.

9) is an applet tag. CO5
a) (applet). b) >applet<. C) <applet>. d) <applet tag>.

10) AWT stands for : CO5
a) abstract window toolkit. b) abstract window toolbar.
c) access window toolkit. d) access window toolbar.

SECTION-B

Answer any FIVE questions (5X2=10)

11) Define Thread CO4

12) Write any 4 HTML Tag CO5

13) Write about Stop () and destroy () Command. CO4

14) What is Inheritance? COos3

15) What is an Interface? COos3

16) What are packages? COos3

17) Any two difference between Class and Interface? COos3

SECTION-C

Answer any THREE questions (3X6=18)

18) Write short notes on Constructors CO2

19) Discuss about the Visibility Control? COo2

20) Explain about the Implementing Interface COos3

21) Explain about Single inheritance with example? COos3

22) Difference between Multithreading and Multitasking? CO4

SECTION-D

Answer any one (1X12=12)

23) Briefly explain about the Life cycle of a thread? CoO4

24) Briefly explain about the Life cycle of a APPLET? CO5
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SECTION-A

Answer ALL Questions: (10X1=10)
Co3 LA encompasses all data used by business.

A) Data warehouse B) Data design

C) Data knowledge D) Data encapsulation
CO3 2. The goal of Is to find errors.

A) Testing B) Analysis C) Coding D) Implementation
CO3 3. Design phase is followed by :

A) Coding B) Debugging C) Testing D) Maintenance
CO4 4, testing is a test case design that exercises the logical conditions

contained in a program module.

A) Stress  B) Validation C) Condition D) Loop
CO4 5. Testing begins at level.

A) Interface B) Analysis C) Design D) Component
CO4 6. Testing and debugging are activities.

A) Same B) Parallel C) Different D) Opposite
CO5 7. Software analysis and design are tasks.

A) Design B) Analysis C) Constructive D) Destructive
CO5 8. Modules are identified at integration testing.

A) Basic  B) Critical C) Lengthy D) Interface
CO5 9. Is an important element of validation process.

A) Configuration review B) Testing

C) Specification D) Deficiency list
CO5 10. Validation testing begins at the culmination of testing.

A) Data flow testing B) Condition testing

C) Loop testing D) Validation testing

SECTION-B

Answer any FIVE Questions (5X2=10)

CO3
CO3

CO4
CO4
CO4

CO5
CO5

11. What is the use of SRS?
12. What is SSA?

13. Define DFD.
14. Define Module.
15. Write the types of Coupling?

16. What is Verification?
17. Define Debugging.




SECTION-C
Answer any THREE Questions: (3X6=18)

CO3 18. Explain about the Software Requirements Specification.

CO3 19. Write a Short Notes on Language & Processors Requirements Specification.
CO4 20. Discuss about the Coupling and Cohesion.

CO4 21. Discuss about the fundamental Design Concepts in Detail.

CO5 22. Explain in detail about Source Code Metrics.

SECTION-D
Answer any ONE Questions: (1X12=12)
CO4 23. Explain the concept of Design Notation for Software Design.
CO5 24. Explain about the following,

(1) Unit Testing & Debugging
(ii) System Testing



